FER AR

48 202041 H4H8

B L K 4 OUT IN GROSS Hcp NET JE L K % OUT IN GROSS Hecp NET
2 & 0 % — 43 50 93 29 64 31 =YREAE 48 56 104 25 79
2 % M F 40 41 81 14 67 32 ®# W ¥ — 41 54 101 21 80
3 =X AEF 44 52 96 27 69 33 ¥ Kk F M 47 49 96 15 81
4 & & K A B 41 44 85 15 70 34 ¥ E I 53 55 108 27 81
5 & B R — 41 45 86 16 70 35 [ X = M 45 53 98 17 81
6 = Wi 1 # 40 48 88 18 70 36 K & &K = 45 56 101 20 81
7 $% K = F 45 55 100 30 70 37 B ® F X 46 54 100 18 82
8 H B B B 44 53 97 26 71 38 W I # E 49 51 100 17 83
9 I R T — 39 44 83 11 72 39 |11 H Z 50 53 103 19 84
10 P E = 42 48 90 18 72 BB % #H £ 52 66 118 23 95
11 W X — X 41 50 91 19 72 41 T & £ BB 65 65 130 23 107
12 # F E 7 42 40 82 9 73

13 # B H — 44 49 93 20 73

14 B # % 42 55 97 24 73

15 & ¥ ¥ £ 45 43 88 14 74

16 8 E & E 44 44 88 14 74

17 Hh & 1§ & 38 45 83 9 74

18 % MW X Iff 46 44 90 15 75

19 [ A L D F 57 52 109 33 76

20 R B — Kk 47 44 91 15 76

21 H B = & 43 50 93 17 76

22 F M F 2z 46 55 101 25 76

23 3R B ¥ & 49 55 104 27 717

24 B H0 X I 53 56 109 31 78

25 H ® 28 FE 45 52 97 19 78

26 K 5 E H 48 47 95 16 79

27 Ml X F ®H 44 46 90 11 79

28 4 & §f — 47 50 97 18 79

29 X B m & 41 45 86 7 79

30 fm @ BS sh 41 46 87 8 79




FER AR

k48 20201 H4H
B L K 4 OUT IN GROSS Hcp NET JE L K % OUT IN GROSS Hecp NET
=i /N B U B B 40 38 78 12 66 31 # B BH X F 49 46 95 12 83
2 T JII IE Bl 41 51 92 26 66 32 % K & 1T 49 57 106 23 83
3 B 1] E 39 38 77 9 68 33 A JIIl & & 45 49 94 10 84
4 = B = F 47 51 98 30 68 34 H H B = 47 51 98 12 86
5 % B ® & 43 50 93 24 69 35 e iE A EX F 53 57 110 23 87
6 E g B 43 40 83 12 71 36 # A # B 50 61 111 24 87
7 X XK & B 43 51 94 23 71 37 H E B H 52 50 102 14 88
8 ¥ AKX fE I 43 46 89 16 73 38 g H & ® 53 57 110 21 89
9 M ¥ B X 43 47 90 17 73 39 X ¥ B 49 60 109 20 89
10 1t ® X &/ 44 41 85 11 74 BB #1 £ B FE 54 50 104 13 91
11 NMNEREEHE 48 47 95 21 74 M 5 WU E F 61 61 122 26 96
12 % K B 2 41 43 84 10 74
13 & H M X 41 45 86 12 74
14 # W0 x A& 37 43 80 6 74
15 H = B X 49 46 95 20 75
16 W K i 41 41 82 7 75
17 #EBE X X 46 47 93 18 75
18 % K # B 37 43 80 5 75
19 &# = & 50 51 101 25 76
20 #F H ¥ ™ 45 47 92 16 76
21 # F B 1T 51 50 101 24 77
22 = ® S AN 41 47 88 11 77
23 ®E B ¥ = M 48 89 12 77
24 MR B ® B 43 51 94 17 77
25 /vl W 42 55 97 19 78
26 @ JIl = X 46 49 95 16 79
27 % E U & X 50 54 104 25 79
28 fn B St % 47 50 97 16 81
29 H 7K 55 50 105 23 82

30 A WU % Bt 44 52 96 14 82




FER AR

3 48 202041848

B L K 4 OUT IN GROSS Hcp NET JE L K % OUT IN GROSS Hecp NET
B H h E &H 4 44 85 21 64 31 h F/ OB Kk 42 42 84 5 79
2 F® B Kk #£ 41 45 86 21 65 32 B B F KX 42 50 92 13 79
3 E R B B 48 47 95 28 67 33 Mk BB Z# @ 43 48 91 11 80
4 W1 N E B 40 40 80 12 68 34 B K E — 39 53 92 12 80
5 [H H Bl 40 39 79 10 69 35 sk H /& X 41 45 92 11 81
6 B & B 44 46 90 21 69 36 % H = 41 48 89 8 81
7 Wl & FE 42 46 88 19 69 37 M M E X O 41 49 90 9 81
8 = JH B B 50 47 97 27 170 38 ¥ AN M B 45 48 93 10 83
9 ¥ = #4239 81 10 71 39 H H = © 44 56 100 14 86
10 T & B E 41 46 93 22 71 BB % H &% X 53 53 106 16 90
11 /hMNE R SF R 37 4 79 8 71 M K £ T F 56 52 108 17 91
12 EEHEHRKE 43 49 92 21 71

13 ## % & F 42 53 95 24 71

14 5 B & # 45 43 88 16 72

15 % [ i 44 45 89 16 73

16 # JII 1 ®R 38 42 80 7 73

17 Hh & {8 S 46 55 101 28 73

18 K B H *x 37 39 76 2 74

19 KN B JE 40 44 84 10 74

20 A & 8h 4T 41 46 87 13 74

21 & # M £ 39 46 85 11 74

22 BN x4 43 51 94 20 74

23 ®H wm 46 54 100 26 74

24 B W & & 44 48 92 17 75

25 % Wi B BH 41 41 82 6 76

26 B B @ FX 41 46 87 11 76

27 ¥ 10 B 2 40 M 81 4 77

28 % MW F = 51 56 107 30 77

29 XK % Bh X 47 51 98 20 78

30 1 g % Ml 51 61 112 34 78




